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2> fEESHEBIFR#H {Tdebug

| "size": %, ) ) 25 \ "gender" : 1,
‘[—‘mﬁ——lmmi—j A 26 | "e d pc nt" : "31.195515,121.4366",
| explain”: true, 27 \ "ng ey plgte” : "EDIS8IN",
- | Tquery™: { 28 | o dr il : " JP2023030903362700001200336811" ,
d "bool”: { 29 | "sgo t. im " : "2023-03-09 18:15:52.828",
: 1 ] ‘"'““5’;": C 30 | "o d r.'re te_time" : "2023-03-09 18:13:25.464",
iy | 31 " _gun " : 4, |
M | "script_score”: { 32 } "(SJ'; r‘:'s_ ctive" : 1, Item
d | || "query": { 33 | "sgp tgoigt" : "31.123389,121.36506",
d ‘ || ‘match_alll.: { 34 \ "s a t.idd 2ss" : "fBRE-FEFERL",
| | || | | "boost": 1.0 35 \ "sgp t. it _code" : "021",
© | || ¥ 36 ||| "u My w_ I" : 1200336811,
VAN =5/ o | b 37 || | "og r.gpdgge_time" : "2023-03-09 18:13:25.809",
,? O user qu[E e ; } } } "script”: { 38 | | | "er' ciy_ehde" : "021",
' "source": "score", - M. M SR 1E e .QE LR
435 . || "lang": "hello_hitch", « Rl e P B et
v 1 | | "params": { 41- | 3 =
» } | | | | "type_name": "MleapScore", 42- | "’explanation" .
l ; | | | | "start_time_from": 1672718700000, 43 | Tvvalue” 0.71413577,
‘ ‘ ‘ | | \ \ "sortPo].i’ : "psg_fadan_vi.rf", 44 | "description” : "sum °f3"»|
Ei&itemiSE 0 e sty
) ! | : 2 46 ~ {
T H Ite q1 ' . | || e ke user 47 } | "value" : 0.7141357660293579,
i« | ‘ | |3, , 48 \ "description" : "mleap(policyName=psg_fadan_vl.rf,params={type_name=MleapScore,
’ | | || | | "start_time_to": 1672719000000, start_time_ from=1€/2718700000, rtRelicy=psg_fadan_vl.rf, end_point=31.194311,121
| | ‘ | | | "estimate_price": 3851, 136829, start_time_to=16727% @00, cstiflate price-3851, passenger _co@int=1, userId
g | || | | "passenger_count”: 1, =1200364780, sturt_time=16727 8850000, orfler_creote_time-1672717412521, start_point=31
' . | || | | Tuserid": "1200364780", .121676,121.355867, now=1672717413522, start city_code=021, end_city_code=021},detail
*#u % i/ ) | ‘ || | | "stort_time": 1672318850%0’ ={distance diff=-953.0, start_end_rate_psr 922855405377388, hitch rate=0
~/ E : ‘ | || || "order_crgatc?_txme : 1672717412521, . 8220465 0927, same_stort_city=1.0 taiice=155.0, driver_cirder_whether_same=1
— — = q. N | || | | "start_point”: [ . end_time_diff=563795" U, start_enu_ratc -iriver=.0979180550515953, start rate_driver
SRR REEa o, —0.0850:413288W47014  log art time_d’ - 539539.@, start driver angel=’
8 | || ||| 121.355867 497802827, ¢~ or. stance_rate .9 4722991409307 driver_hour=18.0,
o ‘ ‘ || 11, psg_order_whetner_same=1.9, end_rate r: 3=0.0120956207 0485214 48brice=3851.0,
| ‘ || || "now": 1672717413522, driver_distanc 4827 .0, end_r i er=0.0128339153761° 4 “start_rate_psg=0
N | | | | | "start_city_code": "021", .0801899507¢ _ 923, end I-iver_angel=55.851865118506474, tifle_diff_length=300.0,
; | | || | | "end_city_code": "021" sameg@iend_c . t4=1.€, s _time_diff=5638253.¢ ‘t_distance_mhd=89-.0,
N ‘ || } pgiirote_paflstart_end=0.915511479309845 J_sgart_time_diff=5638103.0,
‘i | I3 aMiver_rate_driver_start_end=0.51084@7¢ .5473° sg_driver_ange! 424627 160168033,
! | || "boost": 1.0 time_diffz5637952.0, passenger% ..@, share_rate=0.8789617334150281,
i ‘ Lo } pstart_ ish o_diff=1437.47900390625, p<;_distance=15780.0, ; g_publish_time_diff
* | n } =5639540.0, psg_distance_rate=1.0610324144363403, start_distance=1065.0, seat_count-%.0)
‘B 13 driver_weekday=3.0, result=0.71413579432590361)",
: ‘ ‘ = 49~ ‘ | "details" : [
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